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Participant Name

Test Center Name Ideal Onscreen Solution
Test Date 09/02/2021
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Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.
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Ans ?{ 1.

X 2
v

F

Q.1 waw faem % v @gad 52 Z@m 7fed, WCED (B siedls wataet off gl e §) &1 90T &9 F:1

ToT FHANRE HFT TATIRSHES S8rERE (World Commission on Environmental Delegation)
T2 FAINA HieT TS sFerHe (World Commission on Educational Development)
To2 HARNT 3 TAAIRAAE UE g9egae (World Commission on Environment and Development)

Tog FHAAT HiT FFeliTarmel STa9HT (World Commission on Ecological Development)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489116034
94891124135
94891124136
94891124133
94891124134
Answered

3




Q.2 5 3t #r O O ¥ O 3t T & 5 uwee gt & O v ST, S F= 0, 4, 6 3

¥ 7 & AT =9 ¥ 9% 3% FH ¥ S 0F 9 ar I & ARy

Ans X 1. 666444

< 2 666666
+ 3. 1066646
< 4 604604
Question ID : 9489118744
Option 11D : 94891134975
Option 2 ID : 94891134974
Option 3 ID : 94891134973
Option 4 ID : 94891134976
Status : Answered
Chosen Option : 4
Q3 guit 3ol g X UF TE T A F 24 O FET o ¢ TF 5 ¥ 24 fAee F BeAe wor )
i
Ans x 1. 800
<2 79°
X3 82°
v 81°
Question ID : 9489118773
Option 1 ID : 94891135090
Option 2 ID : 94891135089
Option 31D : 94891135092
Option 4 ID : 94891135091
Status : Answered
Chosen Option : 4
Q4 Gfr s7g & 7T &7 15% & F e W s S Rl 7 25% H 3R g9 s i R
(Sales) 9T U5 JTell 3 Ficerd FeAa 1 S0
Ans
X 1. 6.35% I
v 6.25% 3
X3 6.1% T
X< 4 6.15% q@‘
Question ID : 9489118757
Option 11D : 94891135028
Option 2 ID : 94891135027
Option 3 1D : 94891135025
Option 4 1D : 94891135026
Status : Answered
Chosen Option : 2




QS5 =y« @ 37 Fisar §, 0 @ o gEe &, 4 & 3 s § sk @ e Ao §, o Geeea A

Ans

 Fi T TEET T

K120x1246+5-2=12
X220x1244+3-2=12
X318x12+6+3-2=12
v420+124+6x5-2=12

Question ID : 9489116287
Option 11D : 94891125146
Option 2 ID : 94891125148
Option 3 1D : 94891125147
Option 4 1D : 94891125145
Status : Answered
Chosen Option : 4
Q6 2 FOT 1 AT 155° ¥ A 3 AW S ¥ W B0 AW (R H) 7@ A
Ans 53n
;1
72
497
v2 T
72
477
r e RS
72
51n
X 4 2
72
Question ID : 9489118769
Option 11D : 94891135076
Option 2 ID : 94891135074
Option 3 1D : 94891135073
Option 4 ID : 94891135075
Status : Answered
Chosen Option : 2




Q7 oo & 5 @ ST TUST FT TUNAT ®F (FHeT USSR) F HEIET ¥ Fr S o

Ans

X 1. TFTFT ST FOF MY St sEAE @I
K 2 T FEAT AT 3R SHER FES FAT
X 3. TFTHT ST HOT T Ber T 5O
v o SR gEIT J9F AR @ st guw

Question ID : 9489116042
Option 11D : 94891124166
Option 2 1D : 94891124168
Option 3 ID : 94891124167
Option 4 ID : 94891124165
Status : Answered
Chosen Option : 2
Q.8 =maw #r vw e & ;ew F 20% 1 R @ ¥ ow e W 2630 F 3 B & W $r o3y 3
kg FH AT e, faer 38 @ e 9 Bean aEe # 35 FE w7 @ geg 7| afew)
Ans
#1336 9T kg
v 2 335 9fa kg
# 3. 234 9fF kg
X 4 337 9fd kg
Question ID : 9489118759
Option 11D : 94891135035
Option 2 ID : 94891135034
Option 3 1D : 94891135033
Option 4 ID : 94891135036
Status : Answered
Chosen Option : 2
Q9 3@ smR-EHg # TGS B, A &Y T H@er F wF REA (?) F TS W 3 Fohal B
DKM, FJP, HIS, JHV, ?
Ans X1 1GZ
v 2 LGY
X 3 IGY
< 4 HGY
Question ID : 9489116285
Option 11D : 94891125139
Option 21D : 94891125138
Option 31D : 94891125137
Option 4 1D : 94891125140
Status : Answered
Chosen Option: 2




Q.10 v Smeger 3 4 FUT & AT 70°, 110°, 135° 3y 95° ¥| 37 g F w=d 0T F AF A AT

Ans X 1.132°

v 2 130°
X 3 134°
<4 128°
Question ID : 9489118772
Option 11D : 94891135087
Option 2 ID : 94891135086
Option 3 1D : 94891135088
Option 4 1D : 94891135085
Status : Answered
Chosen Option : 2
Q11 g uerers FEa & ogeaR FANE (LCM) 3 Fgeaw @AM (HCF) &1 quewe 36 1 gt
T3 T 3R 5§ FEAT A HfEw)
e X153k 8
V2439
X353T9
X4+ 4 3k 8
Question ID : 9489118749
Option 11D : 94891134995
Option 2 ID : 94891134994
Option 31D : 94891134996
Option 4 1D : 94891134993
Status : Answered
Chosen Option : 2
Q.12 1 FHHAT T ToF T FRNHRET (kwashiorkor) FATHF FFR 3w BT 2
Ans x
1. a.‘,mﬁ‘@%a‘
X2 Far
X 3. ghas gerer
v 4 gréeT
Question ID : 9489116014
Option 11D : 94891124054
Option 2 ID : 94891124056
Option 3 1D : 94891124055
Option 4 1D : 94891124053
Status : Answered
Chosen Option : 4




Q.13 e Surze A=, & 39 Rva F G s dehw e & gade s &, e R

2
Ans X 1. TISTEUTH
V2 3z
< 3 mew gaEr
X 4 FeaT gemr
Question ID : 9489116026
Option 11D : 94891124102
Option 2 ID : 94891124104
Option 31D : 94891124103
Option 4 1D : 94891124101
Status : Answered
Chosen Option : 2
Q.14 v ff¥em gz smor &, SPIDER ® RNHBDP fRr@m =ar §1 33 %2 e F QUESTION &1 & fRrar
FrTET?
Ans X 1. OSCQRGML
X 2 UQSEITNO
# 3 SEUQNOIT
v 4+ PSDQSGNL
Question ID : 9489116276
Option 11D : 94891125101
Option 2 1D : 94891125103
Option 3 1D : 94891125102
Option 4 ID : 94891125104
Status : Answered
Chosen Option : 4
Q.15 U ﬁr
BIERIH T ATIFHAT FT 87
Ans
X 1. SrEOTATTS
]
X 2. Sg-I{HAIU[H
X 3. Th-9IHIS
o 4 HEHET
Question ID : 9489116015
Option 11D : 94891124057
Option 2 ID : 94891124059
Option 3 1D : 94891124060
Option 4 1D : 94891124058
Status : Answered
Chosen Option : 4




Q.16 R 7v et # ¥ 3T TTIT FT 907 F4, o1 & 7 T 4ofr & w7 BEw (7) ¥ T T AT T

Ans

gl

40, 48, 41, 16, 42, 8, 43, ?

vi8
X2 71
X316
X429

Question ID :

Option 1 ID
Option 2 ID

Chosen Option

9489116283

194891125129
194891125132
Option 31D :
Option 41D :

Status:
1

94891125130
94891125131
Answered

Q.17 g gt #1 Fgean TATEa® (HCF) 29 ¥ 3R 3o1% wgeas Tamaed (LCM) & & 37 umEs 13

3T 17 ¥ =9 31 AEst F ¥ o §em A9 Siew)

Ans X 1. 387
v 2 377
<3 373
< 4 493
Question ID : 9489118751
Option 11D : 94891135002
Option 2 ID : 94891135001
Option 3 1D : 94891135003
Option 4 1D : 94891135004
Status : Answered
Chosen Option: 2
Q.18 v e e & v e gt 90 s § 13 9 & §ET @ g1 9 Tgelr 3w g 7 kmvh
AT ¥ T AT ¥ AT g 3 gl 6 kevh BT T & T AT ¥ gl T A
Ans X182 km
< 2 80 km
'3 84 km
/< 4 86 km
Question ID : 9489118762
Option 11D : 94891135046
Option 2 ID : 94891135045
Option 3 ID : 94891135047
Option 4 1D : 94891135048
Status : Answered
Chosen Option : 3




Q.19 Fry &r g # 219,125 & g9 W 15% 1 @fey @ §1 Fer F IE F w7 eI A9 HEw

Ans

v 1. 322,500
< 2 321,500
#< 3724 500
< 4. 723,500

Question ID : 9489118758
Option 11D : 94891135030
Option 2 ID : 94891135029

Option 31D :
Option 41D :
Status :

Chosen Option :

94891135032
94891135031
Answered

1

Q20 ar 77w fRw o &, e & &= 5l PR @ T € AR v HEeE B WS TR # 9O H
A XK1 aefr : agETET

v 2 Fed ;eI

X o WY . FEHRA

< 4 9T EETSeT

Question ID : 9489116294
Option 11D : 94891125176
Option 2 1D : 94891125173
Option 31D : 94891125175
Option 4 1D : 94891125174
Status : Answered
Chosen Option : 2

Q21 ywhich of the following is NOT a sub-field of Economic Geography?
Ans 3 1. Geography of Marketing
< 2. Geography of Tourism

/< 3. Geography of Resources

+ 4 Demography

Question ID : 9489116022

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891124085
94891124088
94891124086
94891124087
Answered

1




Q.22 & & T F MUR W, 7y T 7w 9o F7 3em &)
TR, T M I SAEER #| wAe, S ST AT At £ IS, e A wAe

Ans

Fgereh ) witE, T S Fee g £
TH ¥ FT T A Aerwet ¥ T 7 & A

<1 g
SR T CiL

< 3 A
X 4 g
Question ID : 9489116301
Option 11D : 94891125202
Option 2 1D : 94891125203
Option 3 ID : 94891125204
Option 4 ID : 94891125201
Status : Answered
Chosen Option: 2
Q.23 v faftrz 7 s #, LOVE = NQXG forar =ar §1 33 gz s & SWEET =t 33 B smeem?
ans X1 HGYYR
v 2 UYGGV
< 3 RVDDS
X 4 TXFFU
Question ID : 9489116295
Option 11D : 94891125179
Option 21D : 94891125180
Option 31D : 94891125178
Option 4 ID : 94891125177
Status : Answered
Chosen Option : 2
Q24 iy i &7 i @ o, O B S @ 9N F A et F e w1 aREgeT war 82
Ans
< FEINE!T:Iﬂ'UT Fde (Collenchyma)
X 2 FTH Fa% (Phloem tissue)
X 3. #gde (Parenchyma)
V' ¢ FSEH Fde (Xylem tissue)
Question ID : 9489116013
Option 11D : 94891124051
Option 2 ID : 94891124049
Option 3 ID : 94891124050
Option 4 1D : 94891124052
Status : Answered
Chosen Option : 4




OV O # & FiF @ wed o @ g
A X1 wdga (Reptilia)

< 2. AcET (Pisces)

« 3 TATerET (Annelida)

X 4 grEFArERHer (Cyclostomata)

Question ID : 9489116016
Option 11D : 94891124061
Option 2 ID : 94891124062
Option 3 ID : 94891124063
Option 4 ID : 94891124064
Status : Answered
Chosen Option : 4
Q.26 : .
e # & #i7 @1 T YR # THAT FOGL Adl g7
A -
" 1 ATEE FTUET
L9
X 2 SERET FEU
i i
K 3. 9THET FgeX
A4 daer
Question ID : 9489116036
Option 11D : 94891124143
Option 2 ID : 94891124141
Option 31D : 94891124144
Option 4 ID : 94891124142
Status : Not Answered
Chosen Option : --
Q27 wwhat kind of a resource is water?
Ans (1. Abiotic
/< 2. Non-cyclic
W 3. Cyclic
< 4 Non-renewable
Question ID : 9489116025
Option 11D : 94891124100
Option 2 ID : 94891124098
Option 3 ID : 94891124097
Option 4 ID : 94891124099
Status : Not Answered

Chosen Option :




¥ myEe wor FE aRAT U5 @ wefE 7

ars X 1. HERTE
A2 game
v 3 faER
<4 gaTer
Question ID : 9489116009
Option 11D : 94891124034
Option 2 ID : 94891124033
Option 3 1D : 94891124036
Option 4 1D : 94891124035
Status : Answered
Chosen Option : 3
Q.29 fyw v Reredt & § 30 T F A4S F, S & TS FFE-HEW 4T F wo e (7) F T 9 A
T B
Q. 18; 5,16, U, 13, W, ?
Ans x 1. 19
<28
V9
<46
Question ID : 9489116284
Option 11D : 94891125134
Option 2 ID : 94891125135
Option 31D : 94891125136
Option 4 1D : 94891125133
Status : Answered
Chosen Option : 3
Q.30 vhrpa AT fawm RIS (ITDP) e T==dta W1 & U o1 & ®9 & 3figes & #% o4
Ans X
1. 9gar
X2 gad
<3 E
v 4 oredt
Question ID : 9489116043
Option 11D : 94891124172
Option 2 1D : 94891124169
Option 31D : 94891124171
Option 4 1D : 94891124170
Status : Not Answered

Chosen Option :




Q.31 1f the numbers divisible by 3. from I to 30, are arranged in descending order. which number will be at the 7 place from

the bottom?
Ans o 1. 21
<2 27
X< 318
K424
Question ID
Option 1 ID
Option 2 ID
Option 31D :
Option 4 ID
Status
Chosen Option :

1 9489118746
1 94891134983
1 94891134981

94891134984

1 94891134982
: Answered

1

Q32 gorer e & WETE, SRE H FE HeRTEE A W F aA T AT 82
Ans xl gﬂ'

v &) A
<3l
Xoaoga
Question ID : 9489116031
Option 11D : 94891124122
Option 2 ID : 94891124121
Option 31D : 94891124123
Option 4 ID : 94891124124
Status : Answered
Chosen Option : 4
Q.33 _: : :
ORI HANET H HRT FT Tgell 3&TH Fied AT A7
Ans
X 1. TET (AstroSat)
V' 2 THEITH (MOM)
< 3. TIgarA-1 (Chandrayaan-1)
X 4 Fde-31 (GSAT-31)
Question ID : 9489116030
Option 11D : 94891124119
Option 21D : 94891124118
Option 31D : 94891124120
Option 4 1D : 94891124117
Status : Not Answered
Chosen Option : --




Q.34

T FT S0 AT 4?2

e 1 ofa fafes e # R
X2 oiffie FHT & & e
Xs g% H & A F T
<4 dlg oy T F e

Question ID : 9489116010
Option 11D : 94891124039
Option 2 ID : 94891124038
Option 3 ID : 94891124037
Option 4 ID : 94891124040
Status : Answered
Chosen Option : 4
Q.35 fy siv Fgw e Rig ¥ lw R & awF 9o o aw §1 W e 80 kmvh ¥ 3t Hew A
= 40 km/h &1 15 e w18 et & 6= Hr gl et g
Ans X1 40 km
v 2 30 km
< 3 45 km
/< 4 36 km
Question ID : 9489116300
Option 11D : 94891125199
Option 2 ID : 94891125197
Option 3 ID : 94891125200
Option 4 ID : 94891125198
Status : Answered
Chosen Option : 2
Q.36
EVM #T 90T &9 & 27
Ans : . i ’
& 1. SelFere SifesT T (Election Voting Machine)
v
Eﬁ‘lﬁﬁ'nl? arfesT A= (Electronic Voting Machine)
/< 3. safrarer SifesT i (Essential Voting Machine)
X 4 selifdees aifeer A= (Electric Voting Machine)
Question ID : 9489116027
Option 11D : 94891124108
Option 2 ID : 94891124106
Option 3 ID : 94891124107
Option 4 ID : 94891124105
Status : Answered
Chosen Option : 4




Q.37 v= wfger a1 TN=T & g, WA o F, "W W AT H oag H A §1" 3F Alger & @ & =4

e 32
Ans «1341_%_@_@
K2 =T ) AT$ /g

X o W&
X a4
Question ID : 9489116278
Option 11D : 94891125111
Option 2 ID : 94891125112
Option 31D : 94891125110
Option 4 ID : 94891125109
Status : Answered
Chosen Option : 4
Q.38 37 3iafey o= & A aaEy, fomd 2003 & aRdw-amAfehr siafer anh, Foaa e i foee gan
o
Ans x &
I TR
v 2 rerfaa
< 3 Heetew
X 4 BERal
Question ID : 9489116004
Option 11D : 94891124014
Option 2 ID : 94891124016
Option 3 ID : 94891124015
Option 4 1D : 94891124013
Status : Not Answered
Chosen Option : --
Q39 PofRfEm # & s 3999 AR #1 0F gffawdeT U7 F w9 & afite G e 32
Ans
< 34?!?&}3# 44
X 2 HT=T 475
v o gfena #r gramEar
X 4 =T & AfT @ T
Question ID : 9489116029
Option 11D : 94891124114
Option 2 ID : 94891124113
Option 31D : 94891124115
Option 4 ID : 94891124116
Status : Answered
Chosen Option : 3




Q.40 1983 F s & frre 0T =7 o o9 & AT 9RAT e &7 & Fa= FiF o7

Ans x 1. m%

x 2 :g;ﬁsr AMTEFT
v o Fe 2g
X4 g e
Question ID : 9489116005
Option 11D : 94891124020
Option 2 1D : 94891124018
Option 31D : 94891124017
Option 4 1D : 94891124019
Status : Answered
Chosen Option : 3
Q41 giesl, vt 3R got S 359 FoT T FEA H T F FT Fr ST 82
s X1 ot
X 2. e
V3 BUIEEEF-O*QI
X4 B
Question ID : 9489116023
Option 11D : 94891124091
Option 2 ID : 94891124089
Option 3 1D : 94891124090
Option 4 1D : 94891124092
Status : Answered
Chosen Option: 3
Q42 g & weeT T & a¥ 1853 st & & Tars 7 o
Ans )
K. SiF, o
X 2 qoT, 3o
v
W 3 gTEr, 3T
X 4. 9O, T
Question ID : 9489116040
Option 11D : 94891124158
Option 2 ID : 94891124157
Option 31D : 94891124160
Option 4 ID : 94891124159
Status : Answered
Chosen Option : 3




Q43 foredr waveTg Pnger 7 afSwa 49V3am? ¥1 3T PR 1 oo A @S AW A

Ans - X118 em
<212 cm
<316 cm
v 114 cm
Question ID : 9489118765
Option 11D : 94891135060
Option 2 ID : 94891135057
Option 3 1D : 94891135059
Option 4 ID : 94891135058
Status : Answered
Chosen Option : 4
Q44 zfxa+b+c=8%auwb 3¢ S IFT & T oA il &, & ‘@' F AUFIH A FAT & TR
=
Ans x 1. 8
v26
<30
<410
Question ID : 9489118747
Option 11D : 94891134986
Option 2 ID : 94891134985
Option 3 ID : 94891134988
Option 4 1D : 94891134987
Status : Answered
Chosen Option : 2
Q.45 "
§EH HATS HT Icdied Hal g5 92
ars X 1. HRRISE
<2 feEr
X 3 TS
v o gEmrer
Question ID : 9489116008
Option 11D : 94891124032
Option 2 ID : 94891124029
Option 3 1D : 94891124030
Option 4 1D : 94891124031
Status : Answered
Chosen Option : 4




Q46 wmamm N kmhH Twd @i EIh A w T g aawar d SR e sm g =

zihﬁmmﬁ,?ﬁwmw#mm
Ans X146 km/h

X 2 42 km/h
v '3 48 km/h
X 4 44 km/h
Question ID : 9489118761
Option 11D : 94891135043
Option 2 ID : 94891135041
Option 3 1D : 94891135044
Option 4 1D : 94891135042
Status : Answered
Chosen Option : 3
QY 9T R 3R T TR F GETE Hecaqut Rewar Fi @ 27
Ans E *
X 1. g BIERT T AN A g B
2
=T 3T &g & &9 F7 g9y HgarET g 3enia g =@fge)
X 3.
=T TIFR & TF, g THR T 31w o9fFT g g1
X 4 g ocda &9 @ =g W & g 2
Question ID : 9489116028
Option 11D : 94891124109
Option 2 ID : 94891124111
Option 31D : 94891124110
Option 4 ID : 94891124112
Status : Answered
Chosen Option: 2
Q.48 + .
=T & quesa & SHE FT HF AT AT
01 X2 XK I3X ... X990
Ans X 1.2
v20
X 1
X4 4
Question ID : 9489118748
Option 11D : 94891134991
Option 2 ID : 94891134989
Option 3 1D : 94891134990
Option 4 ID : 94891134992
Status : Answered
Chosen Option: 2




9 3 ¥ 18 T Fr T gEErt F et Fr AT AT RS
ane 1. 2101

< 2 2103
V'3 2104
< 4 2102
Question ID : 9489118745
Option 11D : 94891134977
Option 2 ID : 94891134979
Option 3 ID : 94891134980
Option 4 ID : 94891134978
Status : Answered
Chosen Option : 3
Q.50 forefr fpper &7 v o= &7 F@E 15 cm § AR SW o ¥ s 1 FS 6 om §1 A P @ sEwaA
1T BT
Ans X1 47 em?
< 2 46 cm?
v 3 45 cm?
< 4 48 cm?
Question ID : 9489118764
Option 11D : 94891135055
Option 2 ID : 94891135054
Option 3 1D : 94891135053
Option 4 1D : 94891135056
Status : Answered
Chosen Option: 3
Q.51 31 #fgeme Faan 6 kmih 3T & km/h T T U TUE T TEAT o BT §| TET Afger v B
T A #, gulr Afger ¥ 40 e 3o wEw o ¥ g I fifew
Ans X114 km
X212 km
V3 16 km
X410 km
Question ID : 9489118763
Option 1 ID : 94891135051
Option 2 ID : 94891135050
Option 3 ID : 94891135052
Option 4 1D : 94891135049
Status : Answered
Chosen Option : 3




Q.52 2011 & ARTT FFUET F FHATEF,
(Urban Agglomerations) & & fader & iy 9¢ =T =rar &)

Afoas & e s arer wgdl 9=t

as X1
v 210
<315
<420
Question ID : 9489116024
Option 11D : 94891124093
Option 2 ID : 94891124094
Option 3 ID : 94891124095
Option 4 1D : 94891124096
Status : Answered
Chosen Option : 2
Q.53 37 feeT # 99T F, forws Ry o weel & = 9@ Fuw §, S RE W eee-ged & v & 4= g
&q7 : Tar
e o e - REee
X2 gE : Bee
X s T ;U
X 4 Frey : ereeT
Question ID : 9489116275
Option 11D : 94891125098
Option 2 ID : 94891125100
Option 3 1D : 94891125097
Option 4 1D : 94891125099
Status : Answered
Chosen Option: 1
Q.54 & wfafes 1700 mL qu & @9d FXe §1 95 5 FeaE A fhast e qu # @uaT HEh?
Ans  X'1. 585 L
<259 L
V3595 L
<460 L
Question ID : 9489118753
Option 11D : 94891135012
Option 2 1D : 94891135011
Option 31D : 94891135010
Option 4 1D : 94891135009
Status : Answered
Chosen Option: 3




Q.55

Ans

What is oxidization?

/< 1. Asubstance gaining hydrogen during a chemical reaction

/< 2. A substance losing oxygen during a chemical reaction

X 3

A substance losing both oxygen and hydrogen in a chemical reaction

« 4 A substance gaining oxygen during a chemical reaction

Question ID : 9489116011
Option 1 ID : 94891124042
Option 2 ID : 94891124041
Option 3 ID : 94891124044
Option 4 ID : 94891124043
Status : Answered
Chosen Option : 2
Q.56 e 17 : 21 & 9% 9g F F A Ue W IO HS 7 : 9 F & @ Frwwn?
Ans x 1. 4
V23
<35
<42
Question ID : 9489118754
Option 11D : 94891135014
Option 2 ID : 94891135015
Option 31D : 94891135013
Option 4 ID : 94891135016
Status : Answered
Chosen Option : 2
Q.57 Which of the following is responsible for providing safe, efficient air traffic and aeronautical comnmunication
services in the Indian air space?
Ans 1. Aeronautical Authority of India
/< 2. Airports Association of India
/< 3. Airports and Aeronautical Authority of India
« 4 Airports Authority of India
Question ID : 9489116041
Option 11D : 94891124163
Option 2 ID : 94891124161
Option 31D : 94891124164
Option 4 ID : 94891124162
Status : Not Answered

Chosen Option :




Q.58 Which of the following organisations deals with formulation and implementation of global trade?

Ans  of 1. WTO
X 2. WHO
X3 ILOo
X 4 IMF
Question ID : 9489116033
Option 11D : 94891124132
Option 2 ID : 94891124129
Option 31D : 94891124131
Option 4 1D : 94891124130
Status : Answered
Chosen Option : 1
Q.59 g Fwmst #1 FrEH @AmEsd (LCM), 357 Fgend @aTee® (HCF) &7 26 7= &1 Fgeas GATTaa®
AR TrT @AMEeT # A 729 #) fy s @ ve @ 81§, A gudl FEm W S
Ans 1. 233
< 2 232
V'3 234
< 4 231
Question ID : 9489118750
Option 11D : 94891134999
Option 2 ID : 94891134998
Option 3 ID : 94891135000
Option 4 ID : 94891134997
Status : Answered
Chosen Option: 3
Q.60 v Taggmera # 500 Teard &) swd ws sy asfnat f wew & a7 0 3 ) ofy 120 /S
wsfanaT Rremmera F waw ol §, A 3w Fse it ashdt $r gew & aee wa A
Ans X 1. 35 : 28
V2 35:27
<3 35:26
<4 35:29
Question ID : 9489118755
Option 11D : 94891135019
Option 2 ID : 94891135017
Option 31D : 94891135018
Option 4 1D : 94891135020
Status : Answered
Chosen Option: 2




Q.61 2019-2020 #, sXa ¥ foFw 7= & IA 3c9Ew, RE & To Aol A & UF s ¥ HES a2

Ans

X g
<2 fEr

< 3. ghegmom
V' 4 3EaT 9T

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 9489116039
Option 11D :

94891124153

: 94891124155
1 94891124154
1 94891124156
: Not Answered
Chosen Option :

Q62 2014 3 FW AT TFA F A T [EFR T TATAST 2T 717 o2

K e R
X2 HAES o
X 3 Tg FAR TER
v . Framer Feamett

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116007
94891124028
94891124027
94891124026
94891124025
Answered

4




Q.63 R 1w =t AR Frewst # caEEE 9% R AW F R e Tt § @ FF § w7 oatee
T F Il T 87

T

1. = 9= Wi &

2. wefr qaft ey
fore¥

. T Frer Taf e §
Il. Fo e @ 9 #

X1 sy | s 1 EE g w2

v 2 Faer sy || qTere T 2

X qar fasey | it a & 1 g Far B
X 4 Faor fFFT | IoT FaT 2

Ans

Question ID : 9489116280
Option 11D : 94891125119
Option 2 1D : 94891125118
Option 31D : 94891125120
Option 4 1D : 94891125117
Status : Answered
Chosen Option : 4

Q64 Zfx V2 sin (5x - 5)° = tan 45° §, @ x @ A (B &) A Hfaw
ans K116

v 210

X314

<412

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489118771
94891135081
94891135084
94891135082
94891135083
Answered

2




Q65 mfgX:Y=4:5 Y:Z=573Z:W=7:9% a X W saH ¥ FEs s=g gom?

A X1.3: 11
v24:9
X32:9
K43:7
Question ID : 9489118756
Option 11D : 94891135024
Option 2 1D : 94891135021
Option 3 1D : 94891135022
Option 4 1D : 94891135023
Status : Answered
Chosen Option : 2
Q.66
IR, I S [F FHT FT 39EET Far 27
Ans x 1. ? F
v afas Far
A3 i F=T
X 4 g F=T
Question ID : 9489116012
Option 11D : 94891124046
Option 2 ID : 94891124048
Option 3 ID : 94891124045
Option 4 ID : 94891124047
Status : Answered
Chosen Option : 2
Q.67 2A
IfE cot(A+B).cot(A—B) =1 ¥ ar cot (?) F AT AT AT
Ans
x 1. V3
2
V243
1
K3 —
V3
2
r et
V3
Question ID : 9489118770
Option 11D : 94891135080
Option 2 ID : 94891135079
Option 3 1D : 94891135078
Option 4 1D : 94891135077
Status : Answered
Chosen Option: 3




.68 R F IR e 5w a8 # oF gam an?
At of 11920

< 21930
< 31940
< 41910
Question ID : 9489116017
Option 11D : 94891124066
Option 2 ID : 94891124067
Option 31D : 94891124068
Option 4 1D : 94891124065
Status : Answered
Chosen Option: 1
Q69 Zr guit % srwell FT HFIT 16 : 9 F| 3AF IRA F FHe: AT A Hfw
Ans X 1.4:5
v24:3
X33:4
X45:4
Question ID : 9489118766
Option 11D : 94891135064
Option 2 ID : 94891135061
Option 3 1D : 94891135062
Option 4 1D : 94891135063
Status : Answered
Chosen Option : 2
Q.70 we Afyew & WURT SO W FT GSR IR W 4 T qE IAS HOT I F @ HoEmar
ﬂ?mﬁa:rg T AT R = e e e
Ans
X129 I
V2 5% arf¥es
X3 4% FE=w
X 4 3% a7
Question ID : 9489118760
Option 11D : 94891135037
Option 2 ID : 94891135040
Option 3 1D : 94891135039
Option 4 1D : 94891135038
Status : Answered
Chosen Option : 2




Q7 Fag F Toud eF 1w AT = A F RIS FA g HAAT AT 4|
Ansxa, qaeTel SAraTial (Portuguese traders)

v 2 T FTr 9917 (King George V)
X 3 &S gagiar (Lord Dalhousie)
X + @7 fafems g (Sir William Jones)

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489116020
1 94891124080

: 94891124078
: 94891124077
: 94891124079
: Not Answered
Chosen Option :

Q.72 oo 3mae F1 =0 FA 49 m AT 35 m §1 3H HET FH 7 m = A fhe IR 99 W S Heh

=
Ans 1. 35
<2 36
~< 3 33
X4 34
Question ID : 9489118767
Option 11D : 94891135067
Option 2 ID : 94891135068
Option 3 1D : 94891135065
Option 4 1D : 94891135066
Status : Answered
Chosen Option: 1
Q.73 9w e g @er (Special Olympics World Games), 2019 T 37d=ieT Fal &7 7137 a7
Ans x 1 1 . ﬁ,_
X 2 o TEIT, ITH
X 3 v, A
« - o, T "m é
Question ID : 9489116006
Option 11D : 94891124024
Option 2 1D : 94891124023
Option 3 ID : 94891124022
Option 4 1D : 94891124021
Status : Not Answered

Chosen Option :




Y ATM @ @ A = 2
Ans x 1.
HEATE areferer Al (Automated Totalling Machine)

v 2 TETAEE T AT (Automated Teller Machine)
X 3
eRfew e Af (Automatic Totalling Machine)

X 4 aferAfes Tow @l (Automatic Teller Machine)

Question ID : 9489116037
Option 11D : 94891124147
Option 2 1D : 94891124146
Option 31D : 94891124148
Option 4 ID : 94891124145
Status : Answered
Chosen Option : 2

O e Tae, 1919 F e 7 ¥ 5w onfier B

Ane X o T HTERIRE FEE
v 2
gaas & e sfafRadeede fuwa @ o & dwmiw
X o AT FEGHT W foEey

X o AT 9T Gt Ferary AR ardrare

Question ID : 9489116019

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891124076
94891124073
94891124074
94891124075
Answered

2




Q.76

Ilﬁ;c0528=%§',Eﬂ'sin (75°- 8) =T AT AT HIfarw

Ans 1
(1.5
1
2. &2
2
X3 2+1
X4 q2-1

Question ID : 9489118768
Option 11D : 94891135069
Option 2 ID : 94891135072
Option 31D : 94891135070
Option 4 ID : 94891135071
Status : Answered
Chosen Option : 1

Q77 s @FP, QR S, T, U, VamW &z & Relm R & 7w 5% o graer 3 & e 8
e s Fm & @ ¥eEE A B Q, T ¥ o 3R SR 9w P & o 3R gEy T W ¥ g
UdRVFEFIT S daaar Brdguidau v, P ar T & w00 =8 §1 W, R & 2% 3ik g &=
9T daT B

e § @ i @ Fua @ 2

X P REFTE NN EF T A dar &
VoV SFTE AT ST T A ST #
KW, QF e iR SF A da1 ¢
XaS THITE AN SFH A F daT ¢

Question ID : 9489116303
Option 11D : 94891125212
Option 2 ID : 94891125211
Option 3 ID : 94891125210
Option 4 ID : 94891125209
Status : Answered
Chosen Option : 2




Q.78 31z #fw A, B, C. D, E. F, G @1 H 3o &1 R g &3 0% 9iFd & 83 § (3= o &7 & g0
A A ) D AF R NI AT T AN CF IS R I HA T a8 DFME F
drer 3 heer o Hferer 88 §1 E 7T F & @i 3 sheer oF AT 35 §1 F, B % ¥ 3R @ WE W

Ans

dT F1 A, G T U= &1 H, D F g€ T T I
HiRGxdo & as dE S5 &2

X1 TH

X 2 g

V' =T

X 4 QEFIT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116302

94891125206
94891125207
94891125208
94891125205
Not Answered

Q.79 A person has to put each of three liquids, 420 L of diesel, 475 L of petrol and 495 L of oil in bottles of equal size
without mixing any of the above three types of liquids such that each bottle is completely filled. What is the least

possible number of bottles required?

Ans  of 1. 278
< 2 280
X3 282
X 4 284
Question ID : 9489118752
Option 11D : 94891135005
Option 2 ID : 94891135006
Option 3 1D : 94891135007
Option 4 1D : 94891135008
Status : Answered
Chosen Option : 2
Q.80
GPS 399g fohaall R qeat &7 afisar & 82
Ans * :
X1 g% 2 ¢ H TF TR
X2 gl 48 U H UF 91
X3 gliF 24 ¢ H TF a)
vVigaE 12 9 § TF TR
Question ID : 9489116038
Option 1 ID : 94891124151
Option 2 ID : 94891124152
Option 31D : 94891124149
Option 4 1D : 94891124150
Status : Not Answered

Chosen Option :




Q81 yrF garr vuHA eMU-HErde ke, AEH-39= (Nike -Apache) T Jei90r g a¥ fear ar?

ans 1. 1950
v 2 1963
X 5 2000
X 41990

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status :
Chosen Option :

1 9489116032

1 94891124125
1 94891124126
1 94891124127
194891124128
Not Answered

Q.82 famer 3 wlewerr v FaY & ¥ &1 R Fr ww A vl & T, S e A S et 6 §

Faan A - T #| e @7 ofter & @ @9 §

Ans x1~ S:Hg

X 2. EIET/ATAT
SRR
<4 Tyar
Question ID : 9489116299
Option 11D : 94891125193
Option 2 ID : 94891125194
Option 31D : 94891125196
Option 4 ID : 94891125195
Status : Not Answered
Chosen Option : --
¥ oS 21 # Hgeifa ufranst &1 o wag 2
A K1 R g Rrew B, 1982
X 2 guadeaed (UNCHS), Teieaid, 1972
X 5. SeeguaTHE (WSSD), Sigraasr, 2002

v 4 T ey g R, 1992

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116035

94891124138
94891124137
94891124140
94891124139
Not Answered




* e i T FEHerS E o F g2 7 e gé o

Ans 1. 1835
v 2 1858
< 3 1853
< 4 1885
Question ID : 9489116018
Option 11D : 94891124069
Option 2 1D : 94891124071
Option 3 1D : 94891124070
Option 4 1D : 94891124072
Status : Answered
Chosen Option : 2
Q85 1909 F s WHN ¥ 757 & Ty H RfEer g & sa# T #la @ vear= ar g
e K few e
v 2. FTel-fHer gur
< 3 Jrole T
K4 T T
Question ID : 9489116021
Option 11D : 94891124082
Option 2 ID : 94891124083
Option 3 1D : 94891124081
Option 4 1D : 94891124084
Status : Answered
Chosen Option : 2




Q.86 The given bar graph shows a company’s production (in lakhs) and sales (in Z crores) over 4 years (2015 to 2018).
Answer the question given below based on the bar graph.

Company's Production & Sales

@
2
-]

500

500
] 400
© <00 350
300 250
=
:.E 200
5 200 150 150
= 100

= mill [

0
2015 2016 2007 2018

Years

m Production in Lakh units @ Sales in 2 crores

In which year was the value per unit 22507

Ans X1, 2015
v 2 2018
< 3 2017
X 42016
Question ID : 9489116289
Option 1 ID : 94891125155
Option 2 ID : 94891125154
Option 31D : 94891125153
Option 4 ID : 94891125156
Status : Answered
Chosen Option : 1
Q.87 The given bar graph shows a company’s production (in lakhs) and sales (in % crores) over 4 years (2015 to 2018).
Answer the question given below based on the bar graph.
Company's Production & Sales
600
500
500
8 400
§ 400 350
E 300 50
E 200 o II 150 =
o
100
- ull il |
2015 2016 2017 2018
Years
m Production in Lakh units  m Sales in % crores
If in 2017, the items were sold at the same rate as in 2016, then what would be the value of sale in 2017?
Ans X' 1. 3215 crore
#< 2. 3225 crore
V'3 2210 crore
< 4 2220 crore
Question ID : 9489116290
Option 11D : 94891125160
Option 2 ID : 94891125158
Option 3 ID : 94891125159
Option 4 ID : 94891125157
Status : Not Answered
Chosen Option : --




Q.88 R srar wE W, 9w YR & @A {FIW (agriculture), HEF (roads), faega (electricity), gru-3earg
(dairy) TS 3=(others)} 9T Uk =T F Sl O & Salldl §1 918 IMF F HWNT 97 & e a0 qee

FT IeaT &

Budget expenditure of a state

‘ii!

\/

® Agricufture  m Others = Roads Electricity = Dairy

TEH W T 7T T & W §aEs I HET FF 0T F T A A RS

Ans x 1. 370
v 2 35°
<3 39°
X 4 33°
Question ID : 9489116291
Option 11D : 94891125163
Option 2 ID : 94891125162
Option 31D : 94891125164
Option 4 ID : 94891125161
Status : Answered
Chosen Option : 4
Q.89 Rar 7w g 7w, 9w WK F @A {F (agriculture), HSF (roads), faega (electricity), grer-3eamg
(dairy) T3 3==(others)} 9T U U= F Tl =T & STl &1 9% IMF F HUN 9T & e om0 ge
FT Ieal &
Budget expenditure of a state
® Agricufture  m Others = Roads Electricity  m Dairy
Iy gru-3eamel W T aw = i e Ae W T aw o o ee 2 7.2 s & Y 59w
afrms & 7 e
Ans
X1 362 AT
X 2 361.5 fafeos
~ 3 363 fAfeTs
v 4 360 faferT=
Question ID : 9489116292
Option 11D : 94891125166
Option 2 ID : 94891125167
Option 31D : 94891125165
Option 4 ID : 94891125168
Status : Answered
Chosen Option : 4




Q.90 R =rw det F1 CAATE FeWAS F AT IW TEA F TS F, N FEH 9o e (?) F v W

=
= B
|4501||593151|9
8 3
Ans X 1. 87
<2 93
K3 27
v 89
Question ID : 9489116288
Option 11D : 94891125150
Option 2 ID : 94891125151
Option 31D : 94891125149
Option 4 ID : 94891125152
Status : Answered
Chosen Option : 4
Q91 v= ff¥=s g oo &, OFFICE #r FFOEC! forar =mam &1 33 % omwr & CIRCLE #r &% forar
FATTET?
Ans X' 1. CELCRI
/< 2 ELCRIC
v 3 RICELC
< 4 |CCREL
Question ID : 9489116277
Option 11D : 94891125108
Option 2 ID : 94891125107
Option 3 ID : 94891125105
Option 4 ID : 94891125106
Status : Answered
Chosen Option : 3




Q.92 fr av amm #, 3e RAfEE cFaat ® el & &, e owh ofFa # Geka awer &
91, “Hgdr afFaal” @ Bl & ¢, div 3 trmer cafEaa @ BEia wwar g

A
E

]]\B

HieT T &7, T 3T, SAER, REaar sfeddl & Wehg wear §, S gl 7@ §2
Ans «1_ D

X2C

< 3B

X4 E

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

19489116298
1 94891125191
194891125190
194891125189
1 94891125192
Status :
Chosen Option :

Answered
1

Q93 37 37 3@ F o= H, T FEERRET 6 & fv F gy = gefeaw & ¥ ElE Fwa
S, Tl A

©6 @

Ans ( . B
X 2D
X3 C
<A
Question ID :
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

9489116297

194891125188
1 94891125186
1 94891125185
1 94891125187

Answered
1




¥t R TE ¥ 9 ew ¥, S 5w I E
Ans X_I}_né;

K 2 AT
v 5 aredf
< 4+ gt
Question ID : 9489116274
Option 11D : 94891125096
Option 2 ID : 94891125094
Option 3 ID : 94891125095
Option 41D : 94891125093
Status : Answered
Chosen Option : 3
Q.95 R 7w FeEt sk Fewst # eAEEE T mﬁﬁa’rmémmﬂaﬁmmaﬁgvﬁmaﬁ, sTer &
F wA dit ot A g2t @ B g 2@ g, st aa & Ru e et § @ sl @ st w1
afeF v & I w4 87
FUF
1. O 7T 700 g1
2. 35 = 9 #
ey
l. F= U 9T #
Il. o 7 95 78 §
Ans 3
X 1. Faer TSEY | I T 2
V2 o ar fassy | 3k F @ |l arele FEar g
X 3. Faer TSy || 9Te T FIar g
X4 ey | 3 Il 2T & areea R 2
Question ID : 9489116279
Option 11D : 94891125113
Option 2 ID : 94891125116
Option 31D : 94891125114
Option 4 ID : 94891125115
Status : Answered
Chosen Option : 2




Q.96 =fy T & 37 wewr &, K &7 o amer &, J w7 a0 qon ¥ HR Q # s e §, A St w

AT AT PIAT :

18K3Q4J2T5E=7

Ans X114
v29
X315
X123

Question ID : 9489116286
Option 11D : 94891125144
Option 2 ID : 94891125143
Option 3 1D : 94891125142
Option 4 ID : 94891125141
Status : Answered
Chosen Option : 2
Q.97 A question is given followed by two arguments. Decide which of the arguments is/are strong with respect to the
question.
Question:
Should the government encourage young entrepreneurs?
Arguments:
L Yes. they will reduce the burden of unemployment.
II. Yes. they will contribute to the development of the country.
Ans X 1. Only argument II is strong.
7< 2. Neither argument I nor II is strong.
#< 3. Only argument I is strong.
+ 4 Both arguments I and II are strong.
Question ID : 9489116282
Option 11D : 94891125126
Option 2 1D : 94891125128
Option 31D : 94891125125
Option 4 1D : 94891125127
Status : Not Answered

Chosen Option :




Q.98 Read the given statement and decisions carefully and decide which of the given decisions logically follow(s) from the

Ans

statement.

Statement:

The sale of a particular product has gone down markedly due to a change in the trend causing great concern to the

company.

Decisions:

L The price of the product should be reduced and the quality should be improved.

II. The company should make a study of customer choices and market competition in the market.

/< 1. Neither decisions I nor II follow.

+ 2. Only decision II follows.
/< 3. Only decision I follows.
#< 4 Both decisions I and II follow.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116281
94891125124
94891125122
94891125121
94891125123
Answered

1

Q.99 Four words have been given, out of which three are alike in some manner and one is different. Select the odd one.

Ans

#< 1. Hard disk
7< 2. Motherboard
« 3. Keyboard

X 4. CD-ROM

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116293
94891125169
94891125172
94891125171
94891125170
Answered

3




Q.100 37 37 3@ &7 997 FL, A7 HEAART F & & & GO & Gafcad & ¥ Oeha s &
qear-aiedy, s, Wil

Ans « 1. A
<2D
<3 B
X4C

Question ID :

Option 11D :

Option2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489116296
94891125181
94891125184
94891125182
94891125183
Answered

1

QP HTML Generated date 2021/08/01-16:19:37




	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




